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For ench question in this seclion, yor are
asked to analyze and evaluate the reasoning
in a short paragraph or passage., Please
select the best answer to the question.
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1.Japanese factory workers arc guaranteed life-
time jobs, bonuses paid on the basis of produc-
tivity and corporate profits, and a wage rate
that-is not attached to a particular job. Para-
doxically, these guarantees do not discourage
factory owners from introducing labor-saving
machinery. Such innovations are to the factory
owaoers' advantage despite the fact that the

protect the wages of their workers,

Which of the following, if true, Jogically.
cxplains why the introduction of labor-saving
. machinery is advantageous to factory owners?

. (A) Beforc a Japanese factory worker is hired,
he or she must present a record of his or
her previous productivity,

(B). Labor-saving machinery increases produc-
tivity, thus yiclding profits that more
than cover the cost of retraining workers
for other jobs,

(C) The purchase and maintenance of new
machinery adds significantly to the final
cost of the goods produced. .

(D) Factory warkers demand a change of pro-
cedure in the routine tasks they perform.

" (E) Limited compcnuon exists among Japancse
Jfactories for consumer markets,

.

» Each year, fires in the United States cause §12
billion in property losses, insurance costs, fire-
ﬁghung expenses, and loss of worker produc-
tivity. These fire losses are seven times those of
Japan on a per capita basis,

Which of the follo“mg, il true, would be
LEAST likely to be a factor conmbulmg to the

. difference between fire losses in Japan and those
in the United States?

(A) -The walls of Japanesc homes are made
mostly of wood and bamboo and are
more combustible than the walls in most
American homes.

(B) The rate of arson, a major contributor to

. fire statistics in the United States, is
almost negligible in Japan,

(C) Most Japanese homes, unlike those in
the United States, are cquipped with
specially designed and effective fire-
extinguishing cquipment.

(D) Foam-based and plastic furniture, less
popular in Japan than in the United
Stales,
the heat energy of cquivalent weights of
natural {ibers,

(E) Japanese fire departments devote pro-
portionately more personnel time to
inspection, training, and public education

-than do Uniled States firc depariments.

ignites readily and releases twice

3.

Pharmaccutical companies spend more than ever on
rescarch and development; yet the number of new
drugs patented cach year has dropped since 1963. At
the same uime, profits—at constant 1963 dollars— .
for the industry as a whole have been steadily
increasing.

Which of the following, il true, is the single factor
most likely to explain, at lcast in part. the three
wrends mentioned above for money spent. drugs
patented, and profits made?

(A) Government regulations concerning testing
requirements for novel drugs have bccomc
steadily more stnngmL

(B) Rescarch compcuuon among pharmac:uucal
companies has steadily intensified as a result
of a general narrowing of rescarch targets to
drugs for which thereis a lasge market. ‘

<) Many pharmaceutical oompamcs have entered
ino collaborative projects with leading -~
universilics, while others have hired faculy
members away from universitics by ofTering
very gencrous salanies.

(D) The number of cases in which one company's
researchers duplicated work done by another
company’s rescarchers has steadily grown.

(E) The advertising budgets of the major pharma-
ceutical companics have grovn at a higher
rate than their profits have,

4. \W: The rapid risc in the rate of uncmployment is a

serious economic problem; it will undoublcdly
cost the majonity party voles in the coming
clection.

Z: [ disagree. Statistics for the past 40 ycars show

that there is no significant relationship between
the prc\allmg level of unemployment and polit-

ical gains of losses by the party that happens to
be in the majorily at clection time.

Which of the following most seriously weakens the
force of Z's counterargument?

(A) Z fails 10 cite any actual ﬁgurcs

(B) Z's decision 10 consider a timc span of 40 years
secms arbitrary.

(C) Z relies on conventional critena for the notion
‘of a significant retationship.

(D) Z's statistics focus on level of unemployment,
rather than dircction of change,

(E) Z assumes that there is no connection between
economic and political trends.
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5. It ofien happens that, as a recession deepens, the
stock market soars. Later, after the economy has
. become stronger, the market ofien appears 1o
become shaky. For these reasons, many have
concluded that the market is a poor indicator of
cconermic trends.

Which of the following, if true, best counters the
argument presented above?

{A) Stock prices do not reflect the current state of
the cconomy, but rather the expert judgment
of investors about the future strength of the
economy.

(B) Brokers and analysts say that stock prices are
somclimes inconsistent when business is
beginning to emerge from a slump,

(C) The crash of the stock market'in 1929 preceded

' a prolonged and severe depression,
(D) Economists note that sharp gains in the stock
market have sometimes been recorded in the
] worst months of a recession.
(E) Some brokers and analysts believe that the
) stock market is a uscful index of economic
. rends because it is updated more frequently
“than other indicators.

6. Corporate management's increasing neglect of

" long-term growth is a result of pressures brought
by investors holding large blocks of stock in a

* corporation who want to scc conceniration on
long-term growah sacnificed in order to increase
stock value over the short term.

Which of the following, if truec and known 10
all investors, would most seriousiy weaken the
explanation above?

(A) Investors who hold large blocks of stock tend
10 sell whenever the stock’s value drops.

(B} Investors who hold large blocks of stock in a
corporalion often have direct access 1o that
corporation’s top management.

(C) A corporation’s stock decreases in value when
the corporation’s short-ierm growth pros-
pects are poor.

(D) A corporation’'s stock increases in value when
investors buy large amounts of it.

(E) A corporation’s stock increases in value over
the short term only when the corporation’s
long-term growth prospects are good.

7« Businesses that arc successful in a competitive
market must be well managed. If they were not well
managed, then they would not have been successful.

Which of the following most closely parallels the
1ype of reasoning used in the argument above?

(A) There must be rain to maintain water levels in
" the reservoirs. I there are no clouds. then
there will be no rain.

(B) A scientific theory should be able to gencrate

" predictions. If the predictions made by a
theory were consistently right, then the
theory would be good.

(©) !t must be true that drivers that are in automo-
bile accidents are incompelent drivers. If they
were not incompetent, they would not have
been in accidents.

(D) Given the poor record of survival of new prod-
ucts, there is great risk in being an innovator.
If they compete in the same market, imitators
are often more successful than innovators.

(E) The advance of technology afTects all products
cventually. If a company ignores technolog-
ical advances, it may not be compelitive in
the future.

8. The numbers of retired people will grow as the
population becomes older, and their political power
will expand even faster than their numbers.

Which of the following, if true, LEAST supports the
statement about the growth of the political power of
retirces?

(A) Those rztired people who had supporied polit-
ical parties while they were in the work force
are more likely 10 support partics after retire=
ment than are those relired people who had
not done 30 previously. ’

(B) Reclired people devote more time to political
activities than do members of the work force,

(C) The adult children of retired people tend 10 vote
in ways that support the interests of their
parents even though such actions may not be

" in the children's own economic interest,

(D) Rectired people are more likely to volte than are
members of the work foree.

(E) More reiired people than working people
belong to associations that mobilize their
members to take aclion concerning political
issues that may afTect them.

9. While a quota on imported cars might protect jobs
in the domestic automcbile industry, it also means
fewer inexpensive imported cars and less money for
those buying cars to spend on other things. There-
.forc, such a quota will ultimately result in fewer jobs
in domestic industries unrelated 10 the automobile
industry than there would be without a quota,

Which of the following is an assumption made in
drawing the conclusion above?

(A) The number of car purchases will decrease if a
quota is imposed on imported cars.

(B) Most car buyers prefer inexpensive imported
cars to inexpensive domestic cars.

(C) Without a quota, money that car buyers would
save by buying incxpensive imported cars
would be spent on goods produced by unre-
lated domestic industries.

(D) With a quota, the domestic automobile industry
will employ more people than it currently
does. :

(E) A quota onimported cars would cause the price
of particular models of imporied cars 1o risc.

Ir: ordér 10 reverse a downward trend in occupancy
rates, many hospitals are now tuming to advertising
and are also offenng, for 2. cxira fee. new amenities
" such as gourmet meals, luxury rooms. and valet
parkirg.
Whizh of the following. if it were the reason thal the
beds in the hospitals invelved were being left empry.
wouid increase the likelthood that ths markeung
lechniques mentionsd above would be efTective?

10.

(A) The population of the areas around the hospi-
wals is generally hzalthier than in the past.

(B) Hospital costs are prohibitively high for many
people.

(C) Patients have been choosing other hospitals

" offering better amenities than those previ

ously available in the hospitals involved.

(D) Many medical procedures ihat once required
hospitalization are now done in doctors’
ofMices or in clinics with limited facilitics.

(E) The hospitals involv=d do not ofTer important
medical services that are available elsewhere.

w




. . . ~ — Aﬁ.. )
W o) PRI N G v 2y N S —
B S o) K N =S ) gem g N A ( &3 i afv‘@’)

I°'

11. Corporations exist 1o mazke money for their share-
holdzrs. Corporations hzve no money 1o give away

because any excess funds belong to the sharcholders.

Thsrefore, corporations shauld not contribute 10
charities.

Whizh of the following mest seriously weakens the
reasoning in the argument above?

(A) Managers arc being trained 1o consider the
cthical, moral, and sccial cfTects of their deci-
sions in addition 10 the economic faclors.

(B) Some of the largest corporations in the country
are known to be major contributors to
nhilanthropic organizations.

(C) Shareholders tend to make larger individual
donations 10 charitiss than do people who
hold no shares in corporations.

(D) Most corporations coatribute solely 10 large,

* . well-known. and hickly orpanized charitable
" organizations rathes than 1o individuals in
nced. -

(E) The fayoruble publiciiy 2nd tax udvantages
gained by corporate chariiy often result in
anincrease in profits greater than the actual
costs of muking the denations.

12 tnstead of blaming an airline accident on pilot error,

investigators should find out why the error wag

. made by analyzing airplanc design, airhne ma nage-
ment. and pilot-training programs. For only then
can chariges be made to ensure that the same type
of error does not recur and cause another accident,

Which of the following is a presupposition of the
argument above?

(A) Pilot ervor is not a contnbuting factor in most
airline accidents. ’

(B) Airline companics themselves should be the
agents who investigate airline accidents.

(C) Siricter government regulation of airline
companies will make air travel significantly
safer.

(D) Investigators of airline accidents should con-
tribute to the prevention of future acaidens,

(E) Most pilots who make errors in Nying will
repeat their errors unless they are reirained.

13." The Commerce Depariment recently put limits on
machine-tool imports from two countrics whose
exports of machine tools into the United States have
been substantial. As a result of these restrictions,
analysts predict that domestic sales of machine tools
manufactured in the United States are bound to rise
considerably, startng in the very near future.

Which of the following, if true, would be most likely
10 cause the analysts’ prediction to be inaccurate?

(A) A new ax bill thay, if passed. would discourage
investment in capital equipment such as
machine tools is being studied and debated
seriously in the United States Congress.

- {B) United Staies companies® orders for metal-
cutting machines, which account for
75 percent of sales by the machine-tool
industry, rosc faster than orders for other
types of machine tools during the past year,

{C) Worldwide orders for machine Lools made in
the United Swates dropped by more than
10 percent during the past year,

(D) Substantial inventories of foreign-made
machine 1ools were stockpiled in the United
States during the past year.

{E) Companies in the industnal sectors of many

" countrics showed a significantly expanded
demand for machine tools during the past
ycar,

14 . .The aiics with the densest population have the
“highest ratio of pohice officers 10 cilizens. Such cities
also have the lowest raics of property crime without
conlact between perpetrator and victim. Thus, main-
tining a high ratio of police officers o cilizens can
serve as an effective deterrent 10 at least cerain
kinds of property crime.

Which of the following. if true. most scriously
weakens the argument above?

{A) The quality of training that police receive vanes
from city to city.

(B) High population density itsell makes it difficult
1o commit a property crime that involves no
contacl between perpeirator and victim.

(C) Many nonviolent crimes in large cities arc-drup-
related.

(D) A majority of the perpetrators of property
crimes in densely populated cilies are not
apprehended by the police.

(E) Property crimes withoul conlact beiween perpe-
trator and victim represent only a small pro-
portion of overall cnme.

15, For over fifiy ycars, the occan-{reight industry
worked 10 make ocean freighters faster and 10 lower
their fucl consumption, Despite considerable success,
the cconomics of the industry grew worse. until the
industry was almost dead. What was wrong was an
incongruny between assumptions and reslitics. The
real costs came. not from time spent a1 sca. but from
time spent in port during loading and unloading.

Which of the following actions would be most likely
10 lead 10 2 solution of the problem faced by the
occan-freight industry, as it is analyred in the
passage?

(A} Developing a ship's cngine that runs on a
cheaper 1ype of fuel than that traditionally
uscd by ocean freighters

({B) Developing u ship with accessible cargo
companments that can be mechanically
louded and unloaded very rapidly

{C) Developing a ship whose freight capacity rela-
tlive 1o the ship’s total volume is much lurger
than that of any existing ship

(D) Implementing a system 10 ensure that oceun
freighters are loaded to capacily whenever
they leave a port

(E) Implementing a marketing plan that focuses on
routes that are known to be least threatened
by unfavorable westher, thus permitting
rapid tnps and reliable arrival times
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16. 1t is sometimes argued that we are reaching the
Tlimits of the earth’s capacity o supply our energy
nceds with fossil fuels. In the past ten years, how-
ever, as aresult of technological progress making
it possible to extract resources from even margin-
al wells-and 'mines, yields from oil and coal fields
have increased tremendously. There is no reason
to believe that there is a limit to the earth's capac-
ity to supply our energy needs.

Which of the following statements most directly
contradicts the conclusion drawn above?
(A) Even if we exhaust our supplies of fossil
fuel, the earth can still be mined for uranium
‘for nuclear fuel. ‘
The technology needed to extract fossil fuels
from marginal sources is vefy expensive,
Even given the improvements in technology,
oil and coal are not renewable resources; so
we will eventually exhaust our supplies of
them, '
Most of the land under which marginal oil
and coal supplies lie is more suitable to cul-
tivation or pasturing than to production of
fossil fuels,
The fuels that are yielded by marginal
sources tend to be high in sulphur and other
"+ undesirable elements which aggravate the air
" pollution problem.

(®)
)

Y

(D)

(E)

17. Approximalely two hundred brands of personal
computers are-being manufactured, but we currently
limit our inventory to only the eight most papular
brands. We plan to increase greatly the number of
computers we sell by expanding our inventory to
tnclude the ten best.selling brands.

Which of the lollowing. if truc, poinis out a major
weakness ol the plan above?

{A) The capabilities of the three most popular
personal computers tend 1o be approximately
cquivalent. with no brand having consisient

. superiority in all respects.

(R) The seven most popular brands of personal

" computers account for almost all computers
sold.

(C) As the users of personal computers become
more sophisticated, they are more willing
10 buy less well-known brands of computers.

(D) Less popular brands of computers oficn
provide less profit to the retailer because
prices must be discounted 10 attract
customers, .

(E) The leading brand of personal computer has

" been losing sales 1o less popular brands that
offer similar capabilitics for less moncy.

18.

19,

The garment industry is labor-intensive: the produc-
tion of garments requires the employment of a rela-
tively large number of people. The auto industry is
capital-intensive; a large amount of money is
invested in elaborais equipment run by a relatively
small number of people. If fringe benefits are not
considered, a typical United States garment worker
in 1979 earned 46 percent of a typical auto worker's
wagcs.

Which of"the following,’if true. is likely 10 be among
the factors that account for the dispanity between
auto workers' and garment workers' wages?

1

(A) There is generally less variation among the
wages of garment industry workers than
among those of auto industry workers,

(B) Wage increascs in the auto industry have a
smaller cfTect on manufacturers’ 1otal costs

*than do wage increases in the garment
indus(ry,

(C) The fringe benefits that auio makers provice for
their employees are more comprehensive than
are those provided for garment workers.

(D) The auto industry faces more competition (rom
companics outside the United States paying
low wages than does the garment industry.

(E) The auto industry einploys a larger total num-
ber of workers than dees the garment '
industry. :

A study of auitudes toward prime-time televi-
sion programs showed that programs with
identical ratings i 1erms of number of people
watching received highly divergent marks for
quality.irom their viewers. This additional piece
of information could prove valuable for adver-
tisers. who might be well advised to spend their
advertising dollars for programs that viewers
feel are of high quality.

Which of the lollowing. if true, supports the
claim that information about viewers® percep-
tions of the quality of television programs could
be valuable 1o advertisers” '

(A) The avmber of programs judged to be of
high quality constituted a high per-
centage of the total number of programs
judged.

(B) Many of the programs judged 1o be of high
Guality were shown on noncommercial
networks.

(C) Television viewers more frequently
remember the sponsors of programs they
2dmire than the sponsors of programs
they judge mediocre.

(D} Television viewers tend to waich new
programs only when those programs
follow old. familiar programs.

{E) Television viewers ceport that the quality
of 3 television advertisement has little
zifzct on their buying habits.
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20. According to an independent compuler-indusiry
analyst, the new Regent microcomputer is of high
quality, is fast, and costs less than any currently
existing competing model. It is reasonable to con-
clude. therefore, as the manufacturer's prospecius
doces, that the Repent will quickly establish jisclf
as a fast-sclling, low-priced alternative to currently
availuble microcompuers.

Which of the following. if true, would LEAST

weuhen the argument ubove?

{A) Muny retailers already carry anc or morc
low-priced microcomputer models und ure
disinclined 1o carry another.

(8) Several fuster and lower-priced models of

’ microcomputers will soon be introduced
by other compuier manuflacturers,

(C) The Regent Corporation’s microcompulter can
be used in conjunction with higher-priced
microcomputers manufaciured by other
companies, .

(D) Most of those individuals and companics that
could be expected 1o make up the potential
market for the Regent microcompulter have
alrcady filled their microcompuler needs.

* (E) The indcpendent compulter-industry analyst

"whose assessment was incorporated in the
prospecius has used measures of quality that
are not universally accepted by the compuier.
buying public,
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